
UČBENIK, STRAN 72, NALOGE 1A, 1B, 2 

REŠITVE 

 

NALOGA 1A:  

1 a comedy film 

2 a horror film 

3 a sci-fi film 

4 a musical 

5 a cartoon 

6 a western 

7 a thriller 

8 a romcom 

9 an adventure film 

10 a fantasy 

 

NALOGA 1B: to so moji primeri filmov, seveda so vaši najbrž drugačni 

A sci-fi film – Avatar 

A thriller – Preomonition (Slutnja, film iz leta 2007) 

A horror film – Saw 1, 2 and 3 (Žaga 1, 2 in 3) 

A sci-fi film – Star Trek (Zvezdne steze) 

A musical – The Greatest Showman 

A romcom – Love is in the Air 

A fantasy – Harry Potter 

An adventure film – Indiana Jones 

A comedy film – The Police Academy (Policijska akademija) 

A western – The Quick and the Dead (Hitri in mrtvi) 



A cartoon – Tom and Jerry 

 

NALOGA 2:  

1. Because she is going to be in a film.  

2. She has to say one line: It's Carrie's hat! 

    Because in the film, Carrie disappears and they only find her hat.  

  

 


